### Relativistic BGK Hydrodynamics

### Pracheta Singha

#### National Institute of Science Education and Research

In collaboration with Samapan Bhadury, Arghya Mukherjee , Amaresh Jaiswal.

arXiv:2301.00544 [nucl-th]

TRANSPORT PROPERTIES IN BHATNAGAR-GROSS-KROOK MODEL

### TABLE OF CONTENTS



#### **INTRODUCTION**

2 TRANSPORT PROPERTIES IN BHATNAGAR-GROSS-KROOK MODEL





#### INTRODUCTION

• Energy momentum tensor :

$$T^{\mu\nu} = \int \mathrm{dP} \, p^{\mu} p^{\nu} \left( f + \bar{f} \right) = \epsilon \, u^{\mu} u^{\nu} - P \Delta^{\mu\nu} + \pi^{\mu\nu}$$

• Net particle four current:

$$N^\mu=\int \mathrm{d}\mathrm{P}\,p^\mu\left(f-ar{f}
ight)=n\,u^\mu+n^\mu$$

• Landau frame<sup>1</sup>:  $u_{\mu}T^{\mu\nu} = \epsilon u^{\nu}$ 

<sup>&</sup>lt;sup>1</sup>L. D. Landau and E. M. Lifshitz, Fluid Mechanics (Pergamon, New York, 1987)

#### INTRODUCTION

• Energy momentum tensor :

$$T^{\mu\nu} = \int \mathrm{dP} \, p^{\mu} p^{\nu} \left( f + \bar{f} \right) = \left( \epsilon_0 + \delta \epsilon \right) u^{\mu} u^{\nu} - \left( P_0 + \delta P \right) \Delta^{\mu\nu} + \pi^{\mu\nu}$$

• Net particle four current:

$$N^{\mu} = \int \mathrm{dP} \, p^{\mu} \left( f - \bar{f} \right) = \left( n_0 + \delta n \right) \, u^{\mu} + n^{\mu}$$

• Landau frame<sup>1</sup>:  $u_{\mu}T^{\mu\nu} = \epsilon u^{\nu}$ 

<sup>&</sup>lt;sup>1</sup>L. D. Landau and E. M. Lifshitz, Fluid Mechanics (Pergamon, New York, 1987)

#### INTRODUCTION

• For equilibrium system:

$$egin{aligned} \epsilon_0 &= \int dP \,(u \cdot p)^2 \left(f_0 + ar{f}_0
ight) \ P_0 &= -rac{1}{3} \Delta_{\mu
u} \int dP \, p^\mu p^
u \left(f_0 + ar{f}_0
ight) \ n_0 &= \int dP \,(u \cdot p) \left(f_0 - ar{f}_0
ight) \end{aligned}$$

• Maxwell -Juttner distribution function :

$$f_0 = \exp\left(-\beta(u \cdot p) + \alpha\right)$$
$$\beta = \frac{1}{T}, \quad \alpha = \frac{\mu}{T}$$

#### INTRODUCTION

• For out of equilibrium system:

$$egin{aligned} \delta\epsilon &= \int dP \,(u \cdot p)^2 \left(\delta f + \delta ar f
ight) \ \delta P &= -rac{1}{3} \Delta_{lphaeta} \int dP \, p^lpha p^eta \left(\delta f + \delta ar f
ight) \ \delta n &= \int dP \,(u \cdot p) \left(\delta f - \delta ar f
ight) \ n^\mu &= \Delta^\mu_lpha \int dP \, p^lpha \left(\delta f - \delta ar f
ight) \ \pi^{\mu
u} &= \Delta^{\mu
u}_{lphaeta} \int dP \, p^lpha p^eta \left(\delta f + \delta ar f
ight) \end{aligned}$$

Where,

$$\Delta^{\mu\nu}_{\alpha\beta} = \frac{1}{2} \left( \Delta^{\mu}_{\alpha} \Delta^{\nu}_{\beta} + \Delta^{\mu}_{\beta} \Delta^{\nu}_{\alpha} - \frac{2}{3} \Delta^{\mu\nu} \Delta_{\alpha\beta} \right)$$

4/15

Introduction Transport properties in Bhatnagar-Gross-Krook model Numerical results Summary

#### BOLTZMANN EQUATION

• Boltzmann Equation:

 $p^{\mu}\partial_{\mu}f = \mathcal{C}[f]$ 

#### BOLTZMANN EQUATION

• Boltzmann Equation:

$$p^\mu \partial_\mu f = \mathcal{C}[f]$$

• Relaxation time approximation (RTA)<sup>2</sup>:

$$p^{\mu}\partial_{\mu}f = -rac{(u\cdot p)}{ au_{\mathrm{R}}}(f-f_{0})$$

<sup>&</sup>lt;sup>2</sup> James L Anderson and HR Witting. Physica, 74(3):466–488, 1974

#### BOLTZMANN EQUATION

• Boltzmann Equation:

$$p^\mu \partial_\mu f = \mathcal{C}[f]$$

• Relaxation time approximation (RTA)<sup>2</sup>:

$$p^{\mu}\partial_{\mu}f=-rac{\left(u\cdot p
ight)}{ au_{
m R}}\left(f-f_{
m 0}
ight)$$

• Bhatnagar-Gross-Krook (BGK) approximation<sup>3</sup>:

$$p^\mu \partial_\mu f = -rac{(u \cdot p)}{ au_{
m R}} \left(f - rac{n}{n_0} f_0
ight)$$

<sup>2</sup> James L Anderson and HR Witting. Physica, 74(3):466–488, 1974

<sup>&</sup>lt;sup>3</sup>P. L. Bhatnagar, E. P. Gross, and M. Krook. Phys. Rev., 94:511–525, 1954

### CONSERVED CURRENTS

• For RTA:

$$\partial_{\mu}N^{\mu} = -rac{1}{ au_{\mathrm{R}}} \left(n - n_{0}
ight) \ \partial_{\mu}T^{\mu
u} = -rac{u^{
u}}{ au_{\mathrm{R}}} \left(\epsilon - \epsilon_{0}
ight)$$

• For BGK:

$$\partial_{\mu}N^{\mu} = -rac{1}{ au_{\mathrm{R}}}\left(n-rac{n}{n_{0}}n_{0}
ight) = 0$$
 $\partial_{\mu}T^{\mu
u} = -rac{u^{
u}}{ au_{\mathrm{R}}}\left(\epsilon-rac{n}{n_{0}}\epsilon_{0}
ight)$ 

# CONSERVED CURRENTS

• For RTA:

$$\partial_{\mu}N^{\mu} = -\frac{1}{\tau_{\rm R}} \left( n - n_0 \right) = \mathbf{0}$$
$$\partial_{\mu}T^{\mu\nu} = -\frac{u^{\nu}}{\tau_{\rm R}} \left( \epsilon - \epsilon_0 \right) = \mathbf{0}$$

• If, 
$$n = n_0$$
,  $\epsilon = \epsilon_0$ 

• For BGK:

$$\partial_{\mu}N^{\mu} = -\frac{1}{\tau_{\rm R}}\left(n - \frac{n}{n_0}n_0\right) = \mathbf{0}$$
$$\partial_{\mu}T^{\mu\nu} = -\frac{u^{\nu}}{\tau_{\rm R}}\left(\epsilon - \frac{n}{n_0}\epsilon_0\right) = \mathbf{0}$$

• If,  $\epsilon = \frac{n}{n_0} \epsilon_0$ 

#### CONSERVED CURRENTS

• For RTA:

$$\partial_{\mu}N^{\mu} = -\frac{1}{\tau_{\rm R}} \left( n - n_0 \right) = \mathbf{0}$$
$$\partial_{\mu}T^{\mu\nu} = -\frac{u^{\nu}}{\tau_{\rm R}} \left( \epsilon - \epsilon_0 \right) = \mathbf{0}$$

- If,  $n = n_0$ ,  $\epsilon = \epsilon_0 \rightarrow$  Matching conditions
- For BGK:

$$\partial_{\mu}N^{\mu} = -\frac{1}{\tau_{\rm R}}\left(n - \frac{n}{n_0}n_0\right) = 0$$
$$\partial_{\mu}T^{\mu\nu} = -\frac{u^{\nu}}{\tau_{\rm R}}\left(\epsilon - \frac{n}{n_0}\epsilon_0\right) = 0$$

• If,  $\epsilon = \frac{n}{n_0} \epsilon_0 \rightarrow$  Matching condition

- Boltzmann Equation in BGK model:  $p^{\mu}\partial_{\mu}f = -\frac{(u \cdot p)}{\tau_{\rm R}} \left(f \frac{n}{n_0}f_0\right)$
- Matching condition  $\frac{\epsilon}{\epsilon_0} = \frac{n}{n_0}$

- Boltzmann Equation in BGK model:  $p^{\mu}\partial_{\mu}f = -\frac{(u \cdot p)}{\tau_{\rm R}} \left(f \frac{n}{n_0}f_0\right)$
- Matching condition  $\frac{\epsilon}{\epsilon_0} = \frac{n}{n_0}$
- Modified BGK (MBGK) model:  $p^{\mu}\partial_{\mu}f = -\frac{(u \cdot p)}{\tau_{R}}\left(f \frac{\epsilon}{\epsilon_{0}}f_{0}\right)$

- Boltzmann Equation in BGK model:  $p^{\mu}\partial_{\mu}f = -\frac{(u \cdot p)}{\tau_{\rm R}} \left(f \frac{n}{n_0}f_0\right)$
- Matching condition  $\frac{\epsilon}{\epsilon_0} = \frac{n}{n_0}$
- Modified BGK (MBGK) model:  $p^{\mu}\partial_{\mu}f = -\frac{(u \cdot p)}{\tau_{R}}\left(f \frac{\epsilon}{\epsilon_{0}}f_{0}\right)$
- For first order

$$\delta f^{(1)} = rac{\delta \epsilon}{\epsilon_0} f_0 - rac{ au_{
m R}}{(u \cdot p)} p^\mu \partial_\mu f_0$$

$$p^{\mu}\partial_{\mu}f_{0} = (A_{\Pi}\theta + A_{n}p^{\mu}\nabla_{\mu}\alpha + A_{\pi}p^{\mu}p^{\nu}\sigma_{\mu\nu})f_{0}$$

# EVALUATION OF $\delta f$

• For first order

$$\delta f^{(1)} = rac{\delta \epsilon}{\epsilon_0} f_0 - rac{ au_{
m R}}{(u \cdot p)} p^\mu \partial_\mu f_0$$

$$p^{\mu}\partial_{\mu}f_{0} = (A_{\Pi}\theta + A_{n}p^{\mu}\nabla_{\mu}\alpha + A_{\pi}p^{\mu}p^{\nu}\sigma_{\mu\nu})f_{0}$$

$$\delta f^{(1)} = \tau_{\rm R} \left( B_{\Pi} \theta + B_n p^{\mu} \nabla_{\mu} \alpha + B_{\pi} p^{\mu} p^{\nu} \sigma_{\mu\nu} \right) f_0$$

# EVALUATION OF $\delta f$

• For first order

$$\delta f^{(1)} = rac{\delta \epsilon}{\epsilon_0} f_0 - rac{ au_{
m R}}{(u \cdot p)} p^\mu \partial_\mu f_0$$

$$p^{\mu}\partial_{\mu}f_{0} = (A_{\Pi}\theta + A_{n}p^{\mu}\nabla_{\mu}\alpha + A_{\pi}p^{\mu}p^{\nu}\sigma_{\mu\nu})f_{0}$$

$$\delta f^{(1)} = \tau_{\rm R} \left( B_{\Pi} \theta + B_n p^{\mu} \nabla_{\mu} \alpha + B_{\pi} p^{\mu} p^{\nu} \sigma_{\mu\nu} \right) f_0$$

$$\delta \epsilon = \tau_{\rm R} \int d\mathbf{P} \left( \boldsymbol{u} \cdot \boldsymbol{p} \right)^2 \left( B_{\Pi} f_0 + \bar{B}_{\Pi} \bar{f}_0 \right) \boldsymbol{\theta}$$

# EVALUATION OF $\delta f$

$$-\frac{A_{\Pi}}{(u \cdot p)} = B_{\Pi} - \frac{1}{\epsilon_0} \int d\mathbf{P} \ (u \cdot p)^2 \left( B_{\Pi} f_0 + \bar{B}_{\Pi} \bar{f}_0 \right)$$
$$B_n = -\frac{A_n}{(u \cdot p)} \qquad B_{\pi} = -\frac{A_{\pi}}{(u \cdot p)}$$

# EVALUATION OF $\delta f$

$$-\frac{A_{\Pi}}{(u \cdot p)} = B_{\Pi} - \frac{1}{\epsilon_0} \int d\mathbf{P} \left( u \cdot p \right)^2 \left( B_{\Pi} f_0 + \bar{B}_{\Pi} \bar{f}_0 \right)$$
$$A_{\Pi} = -\left[ \left( u \cdot p \right)^2 \left( \chi_b - \frac{\beta}{3} \right) - \left( u \cdot p \right) \chi_a + \frac{\beta m^2}{3} \right]$$

$$\chi_a = \frac{I_{20}^-(\epsilon_0 + P_0) - I_{30}^+ n_0}{I_{30}^+ I_{10}^+ - I_{20}^- I_{20}^-}, \quad \chi_b = \frac{I_{10}^+(\epsilon_0 + P_0) - I_{20}^- n_0}{I_{30}^+ I_{10}^+ - I_{20}^- I_{20}^-}$$

# EVALUATION OF $\delta f$

$$-\frac{A_{\Pi}}{(u \cdot p)} = B_{\Pi} - \frac{1}{\epsilon_0} \int d\mathbf{P} \ (u \cdot p)^2 \left( B_{\Pi} f_0 + \bar{B}_{\Pi} \bar{f}_0 \right)$$
$$A_{\Pi} = -\left[ (u \cdot p)^2 \left( \chi_b - \frac{\beta}{3} \right) - (u \cdot p) \chi_a + \frac{\beta m^2}{3} \right]$$

$$\chi_{a} = \frac{I_{20}^{-}(\epsilon_{0} + P_{0}) - I_{30}^{+} n_{0}}{I_{30}^{+} I_{10}^{+} - I_{20}^{-} I_{20}^{-}}, \quad \chi_{b} = \frac{I_{10}^{+}(\epsilon_{0} + P_{0}) - I_{20}^{-} n_{0}}{I_{30}^{+} I_{10}^{+} - I_{20}^{-} I_{20}^{-}}$$
$$I_{nq}^{\pm} = \frac{(-1)^{q}}{(2q+1)!!} \int dP \left(u \cdot p\right)^{n-2q} \left(\Delta_{\alpha\beta} p^{\alpha} p^{\beta}\right)^{q} \left(f_{0} \pm \bar{f}_{0}\right)$$

# EVALUATION OF $\delta f$

$$-\frac{A_{\Pi}}{(u \cdot p)} = B_{\Pi} - \frac{1}{\epsilon_0} \int d\mathbf{P} \ (u \cdot p)^2 \left( B_{\Pi} f_0 + \bar{B}_{\Pi} \bar{f}_0 \right)$$
$$A_{\Pi} = -\left[ (u \cdot p)^2 \left( \chi_b - \frac{\beta}{3} \right) - (u \cdot p) \chi_a + \frac{\beta m^2}{3} \right]$$
$$B_{\Pi} = \sum_{k=1}^{1} b_k (u \cdot p)^k \qquad \bar{B}_{\Pi} = \sum_{k=1}^{1} \bar{b}_k (u \cdot p)^k$$

$$B_{\Pi} = \sum_{k=-1} b_k \left( u \cdot p \right)^k \qquad ar{B}_{\Pi} = \sum_{k=-1} ar{b}_k \left( u \cdot p \right)^k$$

### EVALUATION OF $\delta f$

• By coefficient matching:

$$-\frac{A_{\Pi}}{(u \cdot p)} = B_{\Pi} - \frac{1}{\epsilon_0} \int d\mathbf{P} \, (u \cdot p)^2 \left( B_{\Pi} f_0 + \bar{B}_{\Pi} \bar{f}_0 \right)$$
$$A_{\Pi} = -\left[ (u \cdot p)^2 \left( \chi_b - \frac{\beta}{3} \right) - (u \cdot p) \, \chi_a + \frac{\beta m^2}{3} \right]$$
$$B_{\Pi} = \sum_{k=-1}^1 b_k \, (u \cdot p)^k \qquad \bar{B}_{\Pi} = \sum_{k=-1}^1 \bar{b}_k \, (u \cdot p)^k$$

$$b_1 = \bar{b}_1 = \chi_b - rac{eta}{3}$$
 and,  $b_{-1} = \bar{b}_{-1} = rac{m^2eta}{3}$ 

 $ar{b}_0 = b_0 + 2\,\chi_a.$ 

$$\delta f^{(1)} = \tau_{\mathrm{R}} f_0 \left[ \left\{ \frac{m^2 \beta}{3 \left( u \cdot p \right)} + \frac{b_0}{9} + \left( u \cdot p \right) \left( \chi_b - \frac{\beta}{3} \right) \right\} \theta \\ - \left\{ \frac{1}{\left( u \cdot p \right)} - \frac{n_0}{\left( \epsilon_0 + P_0 \right)} \right\} p^{\mu} \left( \nabla_{\mu} \alpha \right) + \frac{\beta p^{\mu} p^{\mu} \sigma_{\mu\nu}}{\left( u \cdot p \right)} \right] \\ \delta \bar{f}^{(1)} = \tau_{\mathrm{R}} \bar{f}_0 \left[ \left\{ \frac{m^2 \beta}{3 \left( u \cdot p \right)} + \frac{b_0}{9} + 2 \chi_a + \left( u \cdot p \right) \left( \chi_b - \frac{\beta}{3} \right) \right\} \theta \\ + \left\{ \frac{1}{\left( u \cdot p \right)} + \frac{n_0}{\left( \epsilon_0 + P_0 \right)} \right\} p^{\mu} \left( \nabla_{\mu} \alpha \right) + \frac{\beta p^{\mu} p^{\mu} \sigma_{\mu\nu}}{\left( u \cdot p \right)} \right]$$

#### TRANSPORT COEFFICIENTS

• For MBGK

$$\partial_{\mu}S^{\mu} = -\beta \Pi \theta - n^{\mu} \nabla_{\mu} \alpha + \beta \pi^{\mu\nu} \sigma_{\mu\nu},$$

where,

$$\Pi = \delta P - \frac{\chi_b}{\beta} \delta \epsilon + \frac{\chi_a}{\beta} \delta n, \quad n^{\mu} = \kappa \nabla^{\mu} \alpha, \quad \pi^{\mu\nu} = 2\eta \sigma^{\mu\nu}$$

#### TRANSPORT COEFFICIENTS

• For MBGK

$$\partial_{\mu}S^{\mu} = -\beta \Pi \theta - n^{\mu} \nabla_{\mu} \alpha + \beta \pi^{\mu\nu} \sigma_{\mu\nu},$$

where,

$$\Pi = \delta P - \frac{\chi_b}{\beta} \delta \epsilon + \frac{\chi_a}{\beta} \delta n, \quad n^{\mu} = \kappa \nabla^{\mu} \alpha, \quad \pi^{\mu\nu} = 2\eta \sigma^{\mu\nu}$$

$$\begin{split} \delta n &= \tau_{\mathrm{R}} \left( \chi_{a} + \frac{b_{0}}{b_{0}} \right) n_{0} \theta, \quad \delta \epsilon = \tau_{\mathrm{R}} \left( \chi_{a} + \frac{b_{0}}{b_{0}} \right) \epsilon_{0} \theta, \\ \delta P &= \tau_{\mathrm{R}} \left[ \left( \chi_{a} + \frac{b_{0}}{b_{0}} \right) P_{0} + \chi_{b} \frac{(\epsilon_{0} + P)}{\beta} - \frac{5}{3} \beta I_{32}^{+} - \frac{\chi_{a} n_{0}}{\beta} \right] \theta \\ \kappa &= \tau_{\mathrm{R}} \left[ I_{11}^{+} - \frac{n_{0}^{2}}{\beta(\epsilon_{0} + P)} \right], \quad \eta = \tau_{\mathrm{R}} \beta I_{32}^{+} \end{split}$$

# Choice of $b_0$

• 
$$\mathcal{A}_r^{\pm} = \int \mathrm{d}\mathbf{P} \, (\boldsymbol{u} \cdot \boldsymbol{p})^r \left(\delta f \pm \delta \bar{f}\right)$$

• 
$$\mathcal{A}_1^- = \mathcal{A}_2^+ = 0 \implies \operatorname{RTA}$$

•  $\mathcal{A}_r^+ = 0$  gives,

$$b_0^r = -\left(1/I_{r,0}^+\right) \left[\chi_b I_{r+1,0}^+ - \beta I_{r+1,1}^+ + \chi_a \left(I_{r,0}^+ - I_{r,0}^-\right)\right]$$

# Choice of $b_0$

- $\mathcal{A}_r^{\pm} = \int \mathrm{d}\mathbf{P} \,(\boldsymbol{u}\cdot\boldsymbol{p})^r \left(\delta f \pm \delta \bar{f}\right)$
- $\bullet \, \mathcal{A}_1^- = \mathcal{A}_2^+ = 0 \implies \text{RTA}$
- $\mathcal{A}_r^+ = 0$  gives,

$$b_0^r = -\left(1/I_{r,0}^+\right) \left[\chi_b I_{r+1,0}^+ - \beta I_{r+1,1}^+ + \chi_a \left(I_{r,0}^+ - I_{r,0}^-\right)\right]$$

• 2 matching conditions for MBGK:

$$\epsilon n_0 = \epsilon_0 n$$
  
 $\mathcal{A}_r^+ = 0$ 

### NUMERICAL RESULTS



FIGURE 1: Dependence of the parameter 
$$b_0$$
 on z at zero chemical potential.

• 
$$z = \frac{m}{T}, \ \Pi = -\zeta \theta$$

• 
$$s_0$$
 = entropy density

#### NUMERICAL RESULTS



FIGURE 1: Dependence of the parameter  $b_0$  on z at zero chemical potential.

• 
$$z = \frac{m}{T}, \ \Pi = -\zeta \theta$$

• 
$$s_0$$
 = entropy density

• 
$$b_0^{\zeta=0}|_{\alpha=0} = rac{\chi_b(\epsilon_0+P_0)-(5/3)\beta^2 I_{32}}{\chi_b\epsilon_0-\beta P_0}$$

#### NUMERICAL RESULTS



FIGURE 1: Dependence of the parameter  $b_0$  on z at zero chemical potential.

- $\bullet \, z = \tfrac{m}{T}, \, \Pi = -\zeta \theta$
- $s_0$  = entropy density

• 
$$b_0^{\zeta=0}|_{lpha=0} = rac{\chi_b(\epsilon_0+P_0)-(5/3)eta^2 I_{32}}{\chi_b\epsilon_0-eta P_0}$$

• 
$$b_0^r|_{\alpha=0} = \frac{1}{I_{r,0}} \left[\beta I_{r+1,1} - \chi_b I_{r+1,0}\right]$$

#### NUMERICAL RESULTS



FIGURE 2: Dependence of  $\zeta / (s_0 \tau_R T)$  on T/m for various  $\alpha = \mu/T$  for r=2 (RTA) and r=0(MBGK)

$$r = 2 \implies \epsilon n_0 = \epsilon_0 n \quad \epsilon = \epsilon_0$$
  
$$r = 0 \implies \epsilon n_0 = \epsilon_0 n \quad \epsilon - 3P = \epsilon_0 - 3P_0$$

### Scaling of $\zeta/\eta$



FIGURE 3: Variation of  $(\zeta/\eta)/(1/3-c_s^2)^2$  with respect to z for various r.

$$\lim_{z \to 0} \frac{\zeta}{\eta} = \frac{15(r^2 + 23r + 10)}{4(r+1)} \left(\frac{1}{3} - c_s^2\right)^2 + \mathcal{O}\left(z^5\right)$$

# Scaling of $\zeta/\eta$



FIGURE 3: Variation of  $(\zeta/\eta)/(1/3 - c_s^2)^2$  with respect to z for various r.

$$\lim_{z\to\infty}\frac{\zeta}{\eta}=6\left(\frac{1}{3}-c_s^2\right)^2$$

# SUMMARY

• Formulation of relativistic dissipative hydrodynamics from BGK collision kernel is discussed.

- The theory is controlled by a free parameter related to freedom of a matching condition.
- The effect of choice of matching condition on dissipative coefficients is examined.

• Scaling properties of the ratio of coefficients of bulk viscosity to shear viscosity on the conformality measure are investigated.

